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The domain of f(x) zlﬂg[(lﬁ'}j_r —(0.4]x+ﬂ is
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Let n € N which one of the following is true?
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If x, y are any two non-zero real numbers, a; =X/ + vi. 4 = (G,;, )nxn and P, O are two nxn

matrices such that 4 = xP + yQ then
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Pis singular and O 1s non-singular
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P+ Q 1s symmetric and P — Q 1s skew symmetric
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Both P + O and P — Q are singular
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The modulus-amplitude form of (2+1)(1+7)
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If z, =2-3i and z, =—1+i. then the locus of a point P represented by = = x + in the

— . z—:z z,
Argand plane satisfying the equation Arg[ L ] =— 15
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If the complex number a 1s such that ‘n‘ =1. and arg (a) = 6 then the roots of the equation
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If x2 +2 px—2p+8>0 for all real values of x. then the set of all possible values of p is
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If the roots of the equation (p—3)x*>+2(p-3)x+2p—5=0 are real and distinct for

‘a< p<f and (f—a) is maximum, then the extreme value of the quadratic expression

.—(a'+,5’)r2 +ofix+(a—p) is

a<p<f S (p-3)2+2(p-3)x+2p—5=0 HEdmo Bwk), Sareres THIE0
508050 DPHBW, ROF (B-a) K05308, '—(a+,8).~r3+a,8x+(a—ﬁ) o 5§ dhrdo

0¥, wody De0H

Options:
1. % 5
5
o
-1
3 ¥
4
s

4



Question Number : 13 Question Id : 4928632253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g o’ o ; . :
If the equation > —7x? +14x -8 =0 is transformed to 3 2 4 py _j_g — (0 when its roots
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If one root of the equation x° —9x* +26x—24 =0 is twice the other then the sum of the
cubes of those two roots 1s
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There are 10 points in a plane of which no three points are collinear except 4. Then, the

number of distinct triangles that can be formed by joining these points such that atleast one
of the vertices of every triangle formed 1s from the given 4 collinear points 1s
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The number of ways of arranging 8 boys and 8 girls in a row so that boys and girls sit
alternately 1s

8 $08 wreads Hbodw 8 Hod wrdFolh wEBPNES HEES IsToddom Srdyd
ﬁoﬁé&@g ©HHHOA e dopg
Options:

ol

1 %

91) (8!)
o W

- (8!)?

21 (81)2
4

Question Number : 17 Question Id : 4928632257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ifthe coefficients of (2¢ + 4)m and (o —2 }m terms in the expansion (1+ x)zmg are equal,

then o=
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If n is a positive integer then the coefficient of x® in the expansion of

(1-2x+32 —42 +...) " is
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If the period of the function f(x)=sinSxcos3x is o then cos o =

f(x)=sinSxcos3x $Ioosho B, sSdSo o wond €OS O =

Options:

= R

1
3 ® 2
4. -1

Question Number : 21 Question Id : 4928632261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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If A+B+C=2S. then
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When ¢ is irrational, the number of solutions satisfying the equation 1+ sin” ax = cos x is
a §5e505308, 1+sin” ax =cosx $DEST) Sy DOV FESo dopg
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In any triangle, if the angles are in the ratio 1:2:3, then their corresponding sides are in the
ratio
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Two ships leave a port from a point at the same time. One goes with a velocity of 3kmph
along North-East making an angle of 45° with East direction and the other travels with a
velocity of 4 kimph along South-East making an angle of 15° with East direction. Then the
distance between the ships at the end of two hours 1s

oy Ldeo ol LEDIHS'R o8 Dok Hod 28 JdHoohos® wobeodoow. HTdgo
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In AABC, ry iyt =
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In a quadrilateral PQRS, A divides SR in the ratio 1:3 and B 1s the mid point of PR. If,
3SR — QR —3PS—PQ = kAB. then k=

PQRS - é&b’qﬁﬁﬁuﬂ“} SR& Aeldd 113 IQsS® IFedgod Sodosn PR @y, Sodg
P B. 3SR-Q —3PS-— PQ kAB wond, k=
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It is given that @.b.¢ are vectors of lengths 6. 8. 10 respectively. If ‘7 is perpendicular
to [5 B F). b is perpendicular (¢+@):and ¢ is perpendicular to (E +b ) . then the length

of the vector 7 4} 4+ 7 1S

a,b.c
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If the direction cosines of two lines are given by / 4+ 35+ 5n =0 and 57— 2mn+6ln=0-
then the angle between the lines is

Bodks HEEpo BET VIO [+3m+5n=0 500050 Sm—2mn+6ln=0 ©Sogtrénn

oSG8, wlpe gy Seo
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If @.b.c.d are 4 vectors such that 7.5 =0. |ax¢|=|a|c|. ‘foﬂ=|ﬁ”fﬂ. then

[bed]-=

@G3R &0 [b?d}:

b.e.d o ab=0, [axe|=|ale]. |axd|=a]d
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If @.b.c are three non coplanar vectors and 7 is any unit vector. then

.‘(5.5)(5xr] (b E](FXH)JF(F.J][EKg)‘:
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If the line 7 =7 +7b is parallel to the plane ¥ =c+Id +me . then

F=a4th H863p F=c+Ild +me S8 HirosSomr ol

Options:
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The mean deviation about the mean for the following data is

§ob S&roTd§ Joggodw odk g ITodo
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If the coefficients of variation of two distributions are 40 and 20 and their variances are
144 and 64 respectively. then the mean of their arithmetic means is

Doy wraare adoarosten 40 Ho8c%n 20 Ho0dcin s s‘ﬁégééam S&Hm 144 5580500
64 vond, T8 wodldgire Ho¢ghiobn
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A number # 1s chosen at random from the natural numbers 2 to 1001. The probability that
n 1s a number that leaves remainder 1 when divided by 7. 1s

25008 1001 568 Ko Sdrs Sopge 00d af dopg & MK, Lond N oI
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| , |
If 4 and B are two independent events such that P(B)= e and P(_A UBC© ) =0.8 then

P(AUB)=
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In a certain recruitment test with multiple choice questions. there are four options to each
question, out of which only one is correct. An intelligent student knows 90% of the correct
answers while a weak student knows only 20% of the correct answers. If a weak student
gets the correct answer, the probability that he was guessing is

DITVFNE @H0 Ao wf 07 &gl Joirdes H08S” Mo P& PH% Treoid DR
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. — [ - . _—
If the mean and variance of a Binomial variable X are = and 1 respectively. then P(X >1) =
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If a random variable X follows a Poisson distribution such that 'P(X =1}=3P( X =2}

then P(X =3)=

Fa0mS Jgra) eRdoE) o8 cirdE Soos X, P(X =1)=3P(X =2) edbgtt
&ol, P(X=3)=
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Let 'Q (x;.1y) be a variable point and R (1. 0) be a point on the circle 24+ y> =1 and Pbe
the mid point of OR. Then the locus of the point P is

a5l SEow .Q(.Tl.j-‘l) w8 SEDo%Y HBad R (1, 0) w8 Dokodh. OR Bw&),
DPg Doy P udodiomro. edyds Doty P Ing Hod So
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The point P(3, 2) undergoes the following transformations successively

(1) Reflection about the line y =x
(11) Translation to a distance of 3 units in the positive direction of x-axis

(111) Rotation through an angle 7 about the origin in the counter-clockwise direction

P(3. 2) &3 Do §od J058d0H Foddgor Fokosiod

(1) y=x0p &yrg So°5gJ0
(i) x-ogY & &7 Jowd 3 rd Crordd Jdrodd wf H08FS0

I T )
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Then, the final position of that point is
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The equation of the straight line which is perpendicular to the line 5x — 2y = 7 and passing
through the point of intersection of the lines 2x+3y—1=0 and 3x+4y—6=0 is

Sx—2y="7 395 vonom &ob>r, 2x+3y—1=0 300050 3x+4y—6=0 Spo Podd
Do) o F HEEdy dEdmo
Options:
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The angle between the line joining the points (1.—2).(3,2) and the line x+2y -7 =0 is

(L-2).(3.2) Dodde Komdrch $668 $0ck0 x+2y—T=0 H568pe S5 Fmo
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The vertices of a triangle are 'A(l. 7).B(-5.—1) and e (=1.2). Then. the equation of a
bisector of the Z4BC is
&

A(L7),B(-5.-1), C(-L2)os of @ebmo Bng), 3o eo. wond LABC 3o
" ,

poks Bp DDEd=o
Options:
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Let 3x* +8xy—3y? =0 represent the lines L,, L, and 3x% +8xy—3y" +2x—4y—1=0
represent the lines L. L, . Let L be the line joining the points of intersection of L,. L; and
L,. Ly. Then the area (in square units) of the triangle formed by L with the coordinate
axes 1s

.31-2 +83'1.T—3.1’2 =0 drdod Dpeo L;. L, Sodasw 3x° +81j«‘—3,1-‘2 +2x—4y-1=0
oo Bpen L. Lyessosoomro. Ly, L;%0805m L, Lyo podd DothHhoso §8 Sp L
wdofoomro. wdyd ASrdsgod L ;363{35 ©ghe STrogo (&8 dBardLs”)

Option_s:

1
2

1 %

g |-

DQII—'.
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The equation of pair of lines passing through origin and forming an equilateral triangle with

the line 3x+4y—-5=0is

¥4

3x+4y—5=038 SHowrio Beher) 8D, Hure Dok KomRFdl Byraboriin

L el
G008, Db iS00
Options:

3952 +11y% —96xy = 0
1.9



x4 v —4xy =0

¥ = T 12597 =10

257 461y +37 =0
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Froma poim';i(l. 0) on the circle | x> 4+ J:Z —2x+2y+1=0.2 chord 4B is drawn and 1t 18
extended to a point P such that 4P =34B. The equation of the locus of P is

41?242y +1=0 50D o8 Doy A(L0) $08 arg AB D A, AP =34B
edlgtn AV POokY g8 AR, P Eng) Dododddansdaoc

Options:

- 2

x +y —2x+6y+1=0
1. ¢

¥ 4 V' =2x+4y4+1=0
o ¥ ) ‘

..‘\‘2 +..1'2 —2x+8y—8=0
= W

"8
x 3y —2x+3y¥l=0
4 ®
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The tangent at 4(—1.2) on the circle x2 + _1,-2 —4x—8y+7=0 touches the circle

x* +y? +4x+6y =0 at B. Then a point of trisection of 4B is

xz + 1'2 —=Ax—8y+T =1 © ;/};j_mu_:l?_} e 4(—12) :}Eé ADd H 5} Y]

.‘TE +}’2+41‘+6."’:D HER) B IG Jpdod. wdyio 4B By, w8 18588 Do)

Options:
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If C, and C, are the centres of similitude with respect to the circles

" +y*—14x+6y+33=0 and 52 1 1?2 +30x -2y +1=0 then the equation of the circle
with C,C, as diameter is

X" +9° —14x+6y+33=0 8350 x> +3” +30x -2y +1=0 HFe Syxg C; Ho8akn
C, en S8rddomeoond C,C, rgdomie &5y Sodo0

Options:

2x2 4292 +30x—33y—-17=0
1. %

2x242y% ~14x+9y—13=0
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2x7 +2y* —39x+14y+74=0
o W

| j ]
2x° +2y" = 24x +By—5=0
4 ®
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If tangents are drawn to the circle y? 4+ > =12 at the points of intersection with the circle

x> + 37 —5x+ 3y —2 =0 then the ordinate of the point of intersection of these tangents is

2412 =12 =23 5HER8, ¥ +v2—Sx+3y—-2=0 o3 $y8so0 Po&oT DodPe HE

fod )d) Speo Podd Do FBwg), Y-VErHESW

Options
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From a point P on the line 4x—3y =6 two tangents are drawn to the circle

: : _1( 24
x>+ 12 —6x—4y +4=0. If the angle between these tangents is Tan™" [7) .then P=

4x—3y=6 o3 566Bp b o VoY Pood x*+3° —6x—4y+4=0 S8

5
Boddd éﬁjé‘ﬁgmm A, e é;]bfg?)a:m $gg Feao Tall_l[L:] wond, P=

Options:
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If '(—1. —1) is the focus and x + y+4 =0 is the directrix of a parabola, then its vertex is

(-L—1) & THmE 500050 ¥+ y+4=0 & IcHSBPpmH LS HTHooho B,
8653500

Options:
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to | 2
|

1o | L
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If anormal chord of a parabola y* = 44x subtends a right angle at the origin. then the slope
of that normal chord is

[* 4

2 = 4ax ©3 Socdedcho BwE), &8 whHoo ;g BrodoLY & wonfno T, &

e9f)ero &g C.T:jcl:mépJ ThED

Options:
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=
If origin is the centre. X-axis is the major axis and o 1s the eccentricity of an ellipse

which passes through '(—3. 1), then the equation of that ellipse is

|2
SorodothhHd Sogord, X-wg) dogord Sodokn \/; S G osmso 8dA,
(-3.1) Docodbomdrch bySygo G0y, HDoELmo
Options:

3x% +5y° =32
1. ¢
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2 2
; X y gy e ;
The slope of a common tangent to the ellipse o +— . =1 and the circle 2 + y =16 15

" a 2

X ! '

E_|_'T:] w3 &cgu 38 0BIB0 > +y*=16 ©3 5HE:8 Ko wf &Ik OEdw
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The distance between the tangents drawn to the hyperbola 3y? — 3 2 =3 . that are parallel to

the line y =2x+4 is

3x2 —y? =3 o3 w8ITHONSTIE, y=2x+4 93 JEFpH SSroddor oot

o W

2

3
=3 kS

1
4 ®
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If the distance between two points 4 and B is d. and the lengths of the projections of 4B on
the coordinate planes are d;. d,. d5 then

A 508050 B o3 Hotodo Sy Sordo dBHodosn A8rsE deren 4B Bws), von JEdre
FEJHeo d;. dy. dye0d

Options:

2d° =d” +d,” +d5°

1. ¢
o ®
dl+d?+d?=d?
3 ®
dy+d,+d;=d
4 %
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L is a line passing through the point 4(1.0.—3) and parallel to a line having direction ratios
0. 1. 2. P is a point on the line L which is at a minimum distance from the plane
2x 4 3y + 5z =1. Then the equation of the plane through P and perpendicular to AP is

L3t A(1,0,-3) Do Komarer, 0, 1, -2 oo BF dydeom Ko dpks dSrossorm
%08 Op. Pold Op L wobar, 2x+3y+52=1 o8 8} Srdos’ eotnod.
wond PhomFdr, AP 8 vonom wod $wo Bn¥), D08800

Options:
y+2z=12
1. %

y-2z+4=0
2



Question Number : 61 Question Id : 4928632301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Let 7, be the plane passing through the points (0. 1. 2). (1, 0.-2). (-2. 1.0) and 7, be the
plane passing through the point (1. 2. 3) and perpendicular to the planes x+ y+z =1 and

2x—3y+z=5.1f0 s the acute angle between the planes 7, and 7, then cos 6 =

(0,1,2).(1,0,-2). (-2, 1, 0) Ho&deo hoa ﬁfﬂéb"‘?@l .JI'I o, (1,2,3) Do o
FE>r x+y+z=1, 2x-3y+:z=5 oo vonom God S Ty 99 ©5%0To.

Ty, T, $ore DEgie ©H508%90 0 wond cos 0 =

Options:
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. cosdx—A4Acos2x+3
lim A =
x—0 X

Options:
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oy

x2*—x x-
Ifa= Lt ——— and = Lt then
x—0 1—cosx x—0 \/1+ 52 \/1 32
X2 =x | x-2F )
o= Lt ——— %8050 f= Lt 2008
x—0 1—Ccosx 230 \/l+ 2 \,’]_
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2x

If f(x)= xe R il
F(x) = g g << Rethen £7(0)=
2x
f("J: |Y“1ER@@3)€( )
Options:
0
1. %
1
4
2 ®
1
2
3. v
3
4
4 ®

Question Number : 65 Question Id : 4928632305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

x—4

If fis a real function such that £ (4)=4 and f’(4)=16. then 1 3

fe36 f(4)=4 Sobcin f/(4)=16 echbinm &8 o8s Bihabhsons,

flx)-2

lim =

x—4 J_ 2

Options:
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If.y = (Sin_ll*r)z +(C‘05_12:r)2 i then.('l —4x? ).‘f'z ~4xy, =

 1~ = (Sin—lzrf + (C'DS_IZA')EEmé (1-4x%)y, —4xy; =

Options:

16
3 v

L w2
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Let f(x)=x"+2x> —x beareal valued function. Then the value of Lagrange’s constant
Cin(—1.2)1s

f(r) — x4 2x% —x =38 € I3 Soreg P oh Sudosoorro. wand (-1, 2) &° Syrod

poro8dn € Jeud
Options:
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. - ; 2..
On I c R—{-11}. JTan 1[1_12] dx =

- | ' s
I cR-{-11} . JTan‘l[l Tj)dxz

—x
Options:
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The angle between the curves y =sin2x and y = cos 2x is

y=sin2x $H06050 y=0c052x SEro g Feoo

Options:

Tan™ \/E
1. %

Tan12/2
o

.Tan_1 [ %)
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The ratio between the length of subtangent at any point other than origin on the parabola

.1‘3 — 16ax and the abscissa of that point 1s

¥’ =16ax ©3 HTH0000D HreDoHTR BT DoY) 5§ Ko &b

QD"Q DOT WS

e Doy BwE), x-AErisA8 o IS
Options:
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dx
jJ(r—n(r—z)

Options:
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1. %
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cosh™(2x-3)+c
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Sin™'(3-2x)+c
E
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4 .
If J“Tﬁ : 1 dx=ATan 'x+ B Tan 'x” +c. then (4.B)=
X+

4
j.ﬁ:‘ﬁ—l—l

: dx=ATan 'x+ B Tan"'x* + ¢ wond, (4.B)=
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| 2 2y 2 2% x? 2x
x(1+x)log(1+ x?|dx = F(x)log(1+ x* | - = Tan™'x - =—— - *
If jr(+1)ﬂg(+r)r (1)::-g[+~r) : an"'x 5 2+3+{=
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5 .5 :
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If I, = [cos” xd¥x, then 615 51,

I.= _[CUSH xdx ecnd .{SIﬁ ) F
Options:

5 o2
—CO0S§ Xx Sl "x

1 %

- .2

Cos  x sin” x
=3

cos’ v sin’ v
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cos’ ¥ sinx
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| log x o
Iff{-‘f)=| ;2 | . then If(.r)drz
: 1
log x 5 .
f(x) —‘ —— ®ond J.f(-ﬂff-TZ
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The area enclosed by the curves y =8x— x” and 8x— 4y+11=01s

y=8x—x" %6050 8x—4y+11=0 Spod & JHSDS Fod ITeL0

Options:
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dx : (1 ;
— = ATan™'| =|.then A=
: 5+ 3sinx 2

1=

C— 1

dx

54 3smx

(= S—

= ATan™ [%) ©and A=

—

Options:
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. s ; 1 dy .
The general solution of the differential equation [—,} - TJd_il +3y=11s
% x

a

[ : +.1‘)£+3_1':] we odfad ddEdmo RE), T v lnt,

: dx
Options:
1
y=—5+3c
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(1 +x )j‘ =90 6
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A family of curves whose equation is general solution of a differential equation having
order 1 and degree 3, 1s

1 585rmom, 38858 §OAS a8 vdgod SE8E I8 FTEn FEI ©Bogda8sno
dordod wE Spre Bdvono

(g. a. c are arbitrary constants)

(2. 2. c oo oSrdy3ys péThen)
Options:

X +y*+2gx4+4y+2=0

' 2 03]
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3 =2c(x++e)
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2
v =4ax
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The general solution of the differential equation 2 e 15

dx x+y+1

| dy 1

= o5 oldbododn dwidemo Bws), T TFE
dx x+y+1

(k. c are arbitrary constants)

(k. ¢ ex oSrasyaE RETHeD)

Options:
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A nucleus of Deuteron or Deuterium is a bound atomic system best described by

dogooes B dogtidoho B, BoiEsn e ©500D08S HEdrm S50 wond, &

Options:
Composed of a proton and a neutron

@ Ho000 SrgErds §0h erokid
1. ¢

Spherical shaped
Aesr8oes” oo
2 ®

Contains more than two nucleons
Sodo¥od Jjéoaréﬁ éﬁgédﬁ:ﬁéﬁj 508 Goodd

o R

Proton and neutron are bound by electrostatic forces

(Ferdo $odoho Srgerd) R Agd wored wohodnd ok
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A wooden cubical block of mass m = 20 kg 1s measured within an error of 10 g. Its side
length /= 100 cm is measured within an error of 1 mm. Then the relative error in the
measurement of its density is

&8 §I8 T8 Oy (5550730 10 g 5708 m =20 kg OIS, od gha FEHS
1 mm &30 1=100 cm e OO . @ondHPH T Foldd Fanthbres® o o

&0 Jend

Options:
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A vehicle starts moving in a straight line with an acceleration. @ =4 m/s?. with initial velocity
equal to zero. After accelerating for time ¢,. the vehicle then moves uniformly for #, and
then finally decelerates for time #, eventually coming to a stop. The total time taken during
the motion is 10 s and the average velocity during the motion is 5.1 m/s. The time taken by
the vehicle during acceleration is

a8 THrSs0 $6¢8p Jowd a =4 M/s? SEnind’ §doko FbodNd. T §OBHo
208 1 oo T Sk Tod, vd JEbEM 1, oodrin §8O DIET 1) STw0 I
w0edtdm0 Bod BAFR0D. (Hoiraos® 8o8S) Indo steo 10 s Hdain Hoireods®

D 3o 5.1 m/s wonsS, oSssn o0 VOO 5700 Jewd

Options:
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A body travels in a straight line from point 4 to point B with an initial velocity zero and
uniform acceleration. covering 1 m during the first second and 39 m during the last second.
The distance between 4 and B in m is

a8 S0 DS Srdos® 4 Dok S0k BhHoddE SO0 odym Sdokn 2868
080" [DAIrdds, G DEHLST 1 M Eror) Hododn D8 WENS” 39 m SorTrR)y
@380 b. 4 H0dodw Beo gy drdo mod”

Options:
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A cricket player can throw a ball with an initial speed of 30 m/s. What is the maximum
range the player can throw the ball? (Neglect air resistance. Take g = 10 m/s2.)

28§38 sl 208 30 M/s FO 68" VM. s & 208 IVGHe KR
g8 (MO AT P80 B&HTHHw, g =10 W/s*> m &8 H50)

&

Options:

100 m

1 %

90 m
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A particle moves in_Y-¥ plane with x and y varying with time ras x(¢) = 5¢. y(£) = 5¢(27 7).
Atwhat time 1n seconds the direction of velocity and acceleration will be perpendicular to
each other.

X-Y d00¢5” 2.8 Smdn 5o & T x D8ckw Yy ew .x'{r):ﬁr‘ y()=5Q27-t") m
Srddr (HoirsBnod. @ g IKo DOk drdmows wETIFTEE wouom J Two (sec.)
& evodrron

Options:
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A bullet enters in a piece of wood with velocity v,. The resistive force acting on the bullet

in the wood 1s proportional to V% . If the total distance travelled by the bullet is proportional

to (v, )‘5 . then the value of B1is

2.8 208E Jto Vo & o8 olg $008)e5°8 (3308, Tolhgd’ Bl HATWIN IS G800
g0

P & s srtdsost sodi. 2B HASTBoDS Ingdn Erssn (v,)
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A mechanical system consists two springs of stiffness coefficients &; and k,
connected in series. The minimum work to be performed on the system to stretch it by
Al 1s

28 Airo@8 Hg50 Ky SoBoho K AN eesten A EBS’ Sodwsd Bod Ryofod
§0R G0, & 35555 Al FEESTIB, AP DowIOHS EIR B

)

Options:
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A block of mass 5 kg 1s pulled by a force F as shown in the figure. If the coefficient of
friction is 0.1. then the force needed to accelerate the block to 3 m/s* to the right is
close to

HL0S* Wrnd Ao 5 kg |$Sg073re w8 830y F w0od ot $odee oo 0.1
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A particle of mass ‘m’” kg moves along the X-axis with its velocity varying with the distance

travelled as v = kx? . where k is positive constant. The total work done by all the forces
during displacement of the particle from x =0 to x =d is close to
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The masses and positions (in rectangular coordinates) of four particles are as follows: 1 kg
at (a. a). 2 kg at (—a. a). 3 kg at (—a. —a) and 4 kg at (a. — a). The position vector of the
centre of mass of the system of four particles 1s
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A solid sphere is rolling without slipping on a semi-circular track of radius 10 m as shown
in the figure. The radius of solid sphere 1s much smaller than the radius of semicircular
track. At the lowest point. it has a velocity 10 m/sec. To what maximum angle 6 from the
vertical will the sphere travel before it comes back down? Neglect the rolling friction
between the sphere and the track. (Take g = 10 m/sec?)
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A block of mass (10 o) g. where o is a constant. is moving with velocity 3 m/sec to the
right collides inelastically with the block on the right with mass 10 g and sticks to it. The
right block 1s connected to three springs as shown in the figure. The spring constant of each

spring is 2 N/m. If the amplitude of the resulting simple harmonic motion is m m. then

the value of & 1s
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-

B
The mass density inside a solid sphere of radius R varies as 2(7') = 2 [EJ . where g and
3 are constants and 7 is the distance from the centre. Let E; and E, be gravitational fields

. R E i
due to sphere at distance 5 and 2R from the centre of sphere. If f =4 _ the value of B 1s
1
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The pressure to be applied to the ends of a steel cylinder to keep its length constant upon
raising its temperature by 100 °C is
(Thermal expansion coefficient. o= 11x1079 /K. Young’s Modulus = 200 GPa)

a8 &8y Srd GFHd 100 °C o0& odSHMw, o7 Fd) Yo wods3508, T
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The root mean square (rms) velocity of an ideal gas at a temperature 7'1s v. If the temperature
is increased to 4 T. the rms velocity of the gas 1s
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A glass beaker contains 200 gm of carbonated water initially at 20 °C. How much ice
should be added to obtain the final temperature of 0 °C with all ice melted. if the initial
temperature of ice is —10 °C. Neglect heat capacity of glass

[Use : Cpey = 4190 Jkg °C . C,., = 2100 J/kg °C , Ly = 3.34x10° J/kg]
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Heat loss takes place from a body maintained at a temperature of 400 °C to the
surrounding air at 30 °C by convection and to the surrounding surfaces at 30 °C by radiation.
The Newton's cooling coefficient is 20 W/m? K and the Stefan-Boltzmann constant is
5.67x107% W/m? K*. If the rate of heat loss by convection is equal to the rate of heat loss
by radiation. the emissivity of the body surface is
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A Carnot engine absorbs heat from a reservoir maintained at temperature 1000 K. The
engine rejects heat to a reservoir whose temperature is 7. If the magnitude of absorbed heat
1s 400 J and work performed is 300 J, then the value of T'1s
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The mean kinetic energy of monoatomic gas molecules under standard conditions is (El) ;
If the gas 1s compressed adiabatically 8 times to its initial volume, the mean kinetic energy

(E2)

of gas molecules changes to {E2>. The ratio —- 1s
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The speed of a transverse wave on a string 1s 160 m/sec. If the three resonant frequencies
of this string respectively are 160 Hz, 240 Hz and 400 Hz. the length of the string 1s
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Comnsider a concave mirror of 10 cm focal length illuminated by an object kept at a distance
of 25 cm. The distance at which the image is formed and its magnification respectively are
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Two objects Pand Q are placed at 10 cm and 30 cm in front of a convex lens of focal length
20 cm. The correct option for the image of P and QO is

P 500050 Q @3 ok Sudheods 20 cm Tergoddsn o el Sogrsrdsisin Svod
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Calculate the minimum thickness of a soap film (» = 1.33) that results in constructive
interference in reflected light. if the film 1s illuminated with light whose wavelength in
free space 1s 532 nm.,
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A thin spherical shell encloses a concentric solid sphere. The radius of the shell is ({),(}.5)% m

and its surface charge density is —107° C/m?* . The radius of the solid sphere is (0.01)% m
and its volumetric charge density is 3x107°C/m’. €, is the permittivity of free space in

C* /Nm?”. The electric flux through a spherical surface concentric with the spherical shell
and of radius greater than that of the shell. in Vi, is
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A conducting sphere S; of radius r, 1s connected by a conducting wire to another conducting
sphere S, of radius », where ; =3 cm and r, = 2 cm. Before they are connected. S; carries
charge of 10 units. The electric potential at the point which is at a distance 4 cm from the
centre of S; and a distance 3 cm from the centre of S, 1s
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A 500 Q resistor connected to an external battery is placed inside a thermally insulated
cylinder fitted with a frictionless piston. The cylinder contains an ideal gas. A current 7 of
200 mA flows through the resistor as shown in the figure. The mass of the piston s 10 kg.
Assuming g= 10 m/s? the speed at which the piston will move upward. due to heat dissipated
by the resistor, so that the temperature of the gas remains unchanged 1s
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A cylindrical shape resistance 1s connected to a battery with emf 57 The resistance per unit

s
; X - :
length varies as p(x) = p, (E) where p, and o are constants and x 1s the distance from

one end of the resistor. The magnitude of product p, L is 10 Q. where L 1s the length of the
resistor. If the thermal power generated by the resistor is 20 W, then the value of e 1s
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Consider a current carrying wire shown in the figure. If the radius of the curved part of the
wire 1s R and the linear parts are assumed to be very long, the magnetic induction of the
field at the point ‘O’ 1s
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A charged particle moves with some initial velocity along the direction of external magnetic
field B. Now if we apply uniform electric field perpendicular to the magnetic field. the
trajectory of the charged particle will be
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A magnetic dipole is under the influence of two orthogonal magnetic fields. B, = 0.5x10™°T

fquIB2 = 0.866x107>T . If the dipole comes to stable equilibrium at an angle 6 with respect
to B, field. the value of 0 1s
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A wheel with radial metal spokes 1 m in length is rotated in a magnetic field of 0.5x107* T
normal to the plane of the wheel. If the emfinduced between the rim and axle is /3000 V.
the rotational speed of the wheel in revolutions per minute is
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An imtially charged undriven LCR circuit having inductance L. capacitance C and resistance R
will
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An electromagnetic wave having frequency 4x10* Hz is passing through a small volume.
The energy contained in this volume oscillates with frequency
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Light of frequency 4~10' Hz is incident on a metal surface of work function 2.14 eV.
resulting in photoemission of electrons. The maximum kinetic energy of the emitted
electrons is [h = 6.63x<1073* Js]

I PHocio 2.14 eV e o 'Y doon 4x10M Hz 2rd:938g0ii0 5708 833059,
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If a proton is accelerated through a potential difference of 1000 V. its deBroglie wave
length is (Given m = 1.67<10~" kg h=6.63 < 107*Js)
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In uranium radioactive series. initial nucleus *® U, decays to final nucleus **°U,, . In this

process the number of a-particles and B-particles emitted are
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Determine V. in the following Silicon-based transistor circuit
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The voltage-current characteristic of a diode during forward bias is given by
T=7.8x10-5 5% . where I is the current in mA and V, 1s the diode voltage m V. The
dynamic resistance of the diode in €2, when the current is 4 mA., 1s
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The height of a transmission antenna is 49 m and that of the receiving antenna 1s 64 m.
What should be the maximum distance between them for line of sight transmission?
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When uncertainity in position and momentum are equal. then the uncertainity in velocity is
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Which of the following are correct?
a)  Electron density in XY plane for 'dxg_}?; orbital is zero

b)  The energy of 3p orbital is higher than the energy of 2p orbital
c)  3p,orbital has one angular node
d)  4f orbital has no radial node

Bod FES A JOGDID?

a) .dxl_},l s0trd XY dood® Qﬂ@;ﬁ FoSeS Lo

b) 3pesdird 48, 2p udrd ¥§ Sol Q8D
c) 3p,u0\irdk ol §PB0h J& woinod
d A esdirds Sdohd I& T

Options:

. % ab.cd

b.c.a
o ®

. ¢ D.C.d

c.d. a
4 W

Question Number : 123 Question Id : 4928632363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘What 1s the correct order of atomic/ionic size for

w

DESre0/ eAirIE e S0 (EHDw



Options:

Cu<Cu<Zn* <Ag
1. %

- Zn** <Cu<Cu<Ag

Ag<Cu<Cu"<Zn**
3 ®

Cu*<Zn**<Cu<Ag

Question Number : 124 Question Id : 4928632364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct statements from the following

a)  The dipole moment of CO, and BF, is zero

b)  The dipole moment of NF, is higher than the dipole moment of NH,
c)  The dipole moment of HI is lower than the dipole moment of HCI

Boh &S J0FToS Addodn Mfokod

a) CO,300050 BF;o &ighd grdshn Sod)

b)  NE;&qeod grdosdos, NH, g6l @rdofdn 808 2899
¢) HI&gehs erdosshn, HCl Hgehsd @erdhssdn §08 #8509

Options:

a, C
1 W

a.b.c

Question Number : 125 Question Id : 4928632365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identify the pair that is not 1sostructural

dd0 Aoyeedn B @odadd KoBood

Options:

PCl.. BiF,
1 o 2 e

CH,. SiCl,

o W

COX.NO;

3 ®

.
.« AESE,

Question Number : 126 Question Id : 4928632366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the odd- electron molecules from the following

QJ@LS?E; e Bolod

_'-:i"

SCl, NO N NO,
(a) (b) (¢) (d) (e)

Options:
a.c.d

b.c

o
; » ad

C. e
4 &

Question Number : 127 Question Id : 4928632367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The ratio between the RMS velocity of N, at 200 K and that of CO at 800 K is
(molecular mass of N, = 28 g mol~!. molecular mass of CO = 28 g mol™)

200K 58 N,5:8050 800 K 38 CO o RMS Jro 28

—0

(N, weaozrdo =28 g mol™, CO weanzrdo =28 gmol™)

o

Options:

1.00

1 %

0.75

o W

Question Number : 128 Question Id : 4928632368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For a fixed mass of an 1deal gas the correct representation 1s

QohDg ($Hg0°8 Ko edGT o0y DBFTSE I6?

Options:




\% E
T LT
P Fad

Question Number : 129 Question Id : 4928632369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The amount of iron (Fe) in g which can be produced from 600 g of magnetite ore is
[Atomic mass of Fe : 55.8]

600 g © Seif)BE Snbpdadn Lob e odbg oda (Fe) BSgome g o
[S8Sre0 (@Sg07 & 55.8]
Options:

450

1 %

379

o W
3 434

210

Question Number : 130 Question Id : 4928632370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



If stoichiometric quantities of KMnO, and K, Cr,O, mixture is added for the oxidation of
Fe?" to Fe*" in acidic medium, then Fe*" will be oxidised

edairsgod® Fe?* & Feo' m efjfdndn maothid Jonse $obrare KMnO,
20050 K,Cr,0, bEsosns §0us96m, Fe2* ebgsoin
Options:

Equally by KMnO, and K,Cr,0,

KMnO, 58050 K,Cr,0, o8 ddrsSomr adoreds

More by KMnO,

KMnO, & J89,5m 286
2 ¢

More by K,Cr,0,

K,Cr,0, & 2858 26t

No reaction

8 @t
4

Question Number : 131 Question Id : 4928632371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A sample of argon of 1 atm pressure and 300 K expands reversibly and adiabatically from
1.25 dm’ to 2.5 dm?. Calculate the approximate enthalpy (in J) change

[i) C_ for argon is 12.48 JK. ii) Assume argon to be an ideal gas. iii) AT = 111.5 K]

300 K So8as» 1 atm SeSo $¢ esord 1.25 dm’ Sood 2.5 dm’ S (8% & @), Soedoioomr
T8 S0 Bokoh. TSI Ity (Jod') S 8§ olod

[) s C,=1248 JK L. ii) 6008 esdd)araingd e e odn, iil) AT =111.5 K]
Options:

20.9

1 %



o W

- 234
58,5

4 ®

Question Number : 132 Question Id : 4928632372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If equilibrium constant of a process is 3.8 x 1073 at 25°C. standard free energy change of
the process is
(R=28.314 T mol™! K1, log 0.0038 =-2.42)

e

oro8Sm 3.8 x 107 wond, (DB Hire wEiges®

LS

25°C 3¢ 2.8 BB é;’n@%@

1,7

.

fnﬂdag
(R=28.314 Tmol! K1, log 0.0038 =-2.42)

Options:

5.7 kJ mol™}

1 %

9.9 kJ mol?

13.8 kJ mol™?!
A

15.6 kJ mol™!

Question Number : 133 Question Id : 4928632373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following compounds give basic solution on hydrolysis?

Bod O SpTrew zoITiSN Tod FY (THErOH oW

a) NH,CI
b K,CO,
¢) NaB,0,-10H,0
d) NaCl
Options:
a.b.c
1. %
b.c
o
- b.c.d
c,d
4 *®

Question Number : 134 Question Id : 4928632374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hardness of water is 200 ppm. Calculate the molarity and normality of CaCO, of the water

A8 578558 200 ppm A5 B, CaCO, Irerdd b TomPddol B8 0wdw

Options:

4x103M:2x 103N

2x10°M:4x10° N

2 ®
v 2%x103M:4x103N

1x10°M:4x10°N



Question Number : 135 Question Id : 4928632375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which pair of elements on combustion in air give superoxides?
@ foroste 288 mOS' HododdHd drd6 o
Options:

L. s

1 #

K.Rb
2

Li.RD
%

=

K.Li

Question Number : 136 Question 1d : 4928632376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When borax is dissolved m water, the product formed 1s

o5 LS E8H0IYE "‘5&&-} €5 &)
Options:
H,BO,
1.9
H,BO,
o %
o ¥ B_},Hﬁ
B,O,
4 W

Question Number : 137 Question Id : 4928632377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

S10, reacts with

Si(:)2 e s BT oo

Options:

H,SO,. HF

1%

HF. NaOH
o o

Na,CO,,NaOH

3 ®

Na,CO,.H,SO,

4 %

Question Number : 138 Question Id : 4928632378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pure water would have a BOD value of

HES HE BOD dews

Options:
about 1 ppm
S8mHm 1 ppm
- <d) PP

5-10 ppm

> R

10-15 ppm

15-20 ppm

Question Number : 139 Question 1d : 4928632379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Tropolone is

ETHS’R dodd
Options:
benzenoid and aromatic
BoRT00E 00050 A5 S7e38
1. ®
non-benzenoid and not aromatic
TR-ToRTondE 08050 285735 57986
> W
non-benzenoid and aromatic
v TE-DoRTond 08050 55785
3.
non-benzenoid and anti-aromatic

To-To2TronE HBIH dSrot-a8 5838

Question Number : 140 Question Id : 4928632380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Newman projection of staggered conformation of ethane is

&Pe ©RHgR Srdfo Bg), Srgdre @BEHso

Options:

s



H
H
H HI_I
o ®
H H
H
H
H H
z %
H
H H
H H -
4

Question Number : 141 Question 1d : 4928632381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2-Pentyne on reaction with sodium in liquid ammonia produced compound A. Whatis A?

2-2083% o3rRcsr |BS0S” ¢f) Fdohod’ K8y addm d3Fssn A 286808,
AQ0e3?
Options:

n-Pentane

N-wo8s

1.
1-Pentyne
-208
o W

cis-2-Pentene

- 3 O Mo 17 B



trans-2-Pentene

A ErR)-2-2083S

Question Number : 142 Question Id : 4928632382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A solid has hep lattice. Atoms of Z (anions) form hep lattice. Atoms of X (cations) occupy
all the octahedral voids in the lattice. Atoms of Y (cations) occupy half of the tetrahedral
voids. What 1s the molecular formula of the solid?

a8 D3DTgsn hep osQ) $88 &b, Z S8drmuHen (ddiren) hep sos)
dyaron. X Hddranden (sdiranm) oo’ od) T ardd dogrods eBdoowd
Famon. Y S8Srandon (srdiraen) o Bgrm@dd Sogrod eEoohsamomn.

208 DoY) weoTinoe I6?

Options:

Xy3YysZ

1 &

XY7Z
2

Xy rzjzz

XYZ,

4 ® &

Question Number : 143 Question Id : 4928632383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an experiment to estimate the molecular weight of benzoic acid by elevation in boiling
pomt method. the experimental value of molecular weight was double the actual value.
Calculate the degree of association of dimer if the elevation in B.P. is 2°C.

oSS T B DDDT N0 FoF ans B YT ) BT D RGrHod” RArTES
©£00580 TIPS ©e0ero 8 BPoYT SIr wowod. FFIS F wHB 2°C

®ond BHE ITT0E wSHI 808

Options:



1. ¢ 1.0

0.9

5 ®

2.0

Question Number : 144 Question Id : 4928632384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2.0 g of a non-electrolyte dissolved in 100 g of benzene lowers the freezing point of benzene
by 1.2 K. The freezing point depression constant of benzene is 5.12 K kg mol™. The molar
mass of the solute is

100 g Boaes” 2 g o widys 51%&’15;’13350 E8hoDNY% TZode PSS ardo 1.2 K

-

o e

BH08. BodS PAFIS S A8 Jorodsw 5.12 Kkg mol™. @agsn emuerdo Jod?

Options:

55 g mol™!
1. %

85 g mol™!
2 ¢

120 g mol™!

3 ®

155 g mol™!
4 ®

Question Number : 145 Question 1d : 4928632385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The potential of hydrogen electrode of pH = 10 with respect to standard hydrogen
electrode is

R @ a0 Jogeddor pH = 1058 TrEac Jo§s 980 Jod?



Options:

—0.0591V
%

—0.591V
2

02V
= W

Question Number : 146 Question Id : 4928632386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following graphs represent a zero order reaction?

(a = mnitial concentration of reactant. X = concentration of reactant consumed. t = time)

§0d (TRos® JD Wd Edrol BEgde DT 0wn?

(a= Solradto @FéodmEd, X = IVIridos §odradso mEd, t= s*00)

a) b) 5 d)
. . . vy
ST y=E dx | I
dt =
(=T}
=2 R
a t ’ (a—x) 4
Options:
,x acd
a.C
o
b.c.d
3 %
4 % a,d

Question Number : 147 Question 1d : 4928632387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Fog 1s a dispersion of

OR VDo ridoo (Fog)?
Options:

liquid in liquid
. BS50S* (8HB0

solid in gas

TPoSoeS® Poddw

gas in solid

Hod0S® Tma50D)
3 ®

liquid in gas

FTO0YS® BS0

4

Question Number : 148 Question Id : 4928632388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following reactions is used for Mond’s process of metal refining

Bod WEgoe® 0 Erolk HP8S® STIrTETR) BuodhBod?

[s=d0:aq=zo]

Options:

Ni+4CO—=25Ni(CO),
1. ¢



é[Au(CN}J + Zn——2Au+[Zn(CN), |~
(aq)  (s)  (s) (aq)

2P oo 00

Fe,0,+CO——32Fe0+CO,

Question Number : 149 Question Id : 4928632389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The most acidic among the following compounds 1s

Bod TES® 26 VEHE VRS HEBOWD?

Options:

Question Number : 150 Question Id : 4928632390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Oxidation states of S i HESEO}, are

H,S,0.,¢&° S G, w8 \Ebmdden
777 b =) 3

Options:



Question Number : 151 Question 1d : 4928632391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the number of complexes that are optically active

-[CD(EH\)E]H ;[CD(NH3 1 CIQIr :[Cﬂ(‘l2 (eu}z] :[CG{NHg ), (Nozh]

$od J03ToS JQ) (ol (Fodd DE8 o0

{CU[E]:[)BTJF [Co(NH,), CL, | ] CoCL, (en), |- Co(NH,), (NO, ), |

Options:

0

1. %

o o

Ll

Question Number : 152 Question Id : 4928632392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Statement (a) : Co?* has higher magnetic moment than Cr3*
Statement (b) : Tonisation enthalpies of Ce, Pr and Nd are higher than Th, Pa, U

DS (a): Cr3* 08 Co?" & =88 waohi 0,08 @raoBsn wolnod
Q&58en (b): Ce. Preodoin Ndo ocbadds Jogrdyes Th, Padddin Uo o8

ef8om™ Godmow

Which of the following 1s correct?

§od TES* I8 HOTHIH?

Options:
Both (a) and (b) are not correct

(a). (b) &0 Bodr OIS 57D
1 &

Both (a) and (b) are correct
_— (). (b) &0 Bodsr 8BS
(a) 1s correct but (b) is not correct
(a) ¥65058, 570 (b) HBFSH 57
3 ®

(a) 1s not correct but (b) 1s correct

(a) ﬁan@:é& 7o 5@ (b) ﬁ&@oéﬁ&
4 #®

Question Number : 153 Question Id : 4928632393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The schematic illustrations of macromolecules given below represent

§od RSES a)irdoode HEE)E DS IO Srdaon?

ST e m e
N e T
(A)
N
(©)
Options:
A B §

1.

HDPE LDPE  Bakelite
HDPE LDPE [EBE

#®

A B C
Bakelite HDPE LDPE

2888  HDPE LDPE

2
A B C
HDPE Bakelite LDPE
- HDPE 0¥ S8 LDPE

A B B

LDPE Bakelite HDPE
LS =¢§8&  HDPE



Question Number : 154 Question Id : 4928632394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following structures represent amylose?

508 AT’ JJS'EDL SrDowdd D87

Options:
CH,OH
H O, H
H
OH H
0
_}.n
o OH
CH,OH CH,OH
H H H H
H H
og H OH H
HO OH
H OH H OH
> R
CH,OH CH,0H
HO O H - OH
H H
ou H O OH H
H H H
H OH H OH
= W
H
CH,0H
H 0. O
CH,0H OH H
H 0. O H
H H OH
og H
0 H
H OH
4 ®

Question Number : 155 Question Id : 4928632395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

The structure of ranitidine 1s

3JBES fﬁ};\éﬁr o’JU";_Eau
Options:
CH; CN
T X
N S ;
\'/\I;[)KNHC%
1. kS
_ T\ | CH(NO,)
Mell\. 5 X
0 \/\E)\ —
o kS
\ CH(NO,)
Me,N \/ﬂ\/s
O \/\E}I\Z‘CHMe
AR
T ':Hf'\
}E‘*‘g\/ N—CN
X S
N \/\/\E)\NHCHE

4 ®

Question Number : 156 Question Id : 4928632396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Arrange the following bromides i the order of reactivity in undergoing S 1 reaction

4

ol @bod Syl S8gHb 8 dorgrud EoS” v ol

(N
2 B :
Sn A >y
(1) (1) (i1) (1v)
Options:
1>11>1>1V
1. ¢

WW>1>1u>1
o W

1>1>11>1V
3 ®

ii>iv>1ii>1
4 ®

Question Number : 157 Question Id : 4928632397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



From the following identify the reactions that give alcohol as the product

o T8S® soyFESl e ilom af) W$dgs MBoiod

CH :
@ (:/( 3 i) B,H,
i) H,0, Aqueous NaOH

o

(22e3)
COOM
11 - >
( ) {ﬁs@jcﬁéu}
O
NaBH,
(ii1) MeOH
(. : CHE\C/,CI : ity
1w —
CH3/ \Cl NaOH
Options:
| % 1. 111, IV
1.11. 1V
= ®
1. 11, 111
AR
11, 111, 1V

Question Number : 158 Question 1d : 4928632398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What 1s the possible product (P) in the following reaction?

Bod $iges® gy ed o 267

o
o

NaOH/A
> P

3

Options:
O

1. %

foﬁ
2

z ,CHO
3 #®

; ,CHO
4 ®

Question Number : 159 Question Id : 4928632399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What are the products B and C in the following reaction sequence?

8od Horg wiEHins’ edTmes B, C oo 22

CO.H .
- NaOH NaOH & CaO A
@ S

Options:



>
(B) ©)
(B) ©)
O O
(B) ©)

Question Number : 160 Question Id : 4928632400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the options correctly represent the basicity for these compounds

& JAnEre Fdetd) Som Jrdod mﬁ&ééﬁm

NH, NH, NH,
NO,
NO,
(a) (b) (c)

Options:
a>c>b



c>b>a

c>a>b
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137
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139
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146
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115

116
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41

42

43

44
45

46

47

48

49

50
51
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56
57
58
59
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76
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11
12
13
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15
16
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30
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35
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